
     
 

 

Question Answer Marks AO Guidance 
8   4 5 6 0 2p p− + − = ⇒ =  B1 1.1 Correct value p = 2 stated  
   2 3 13 0 and 2p q p q− − = = ⇒ =  M1 1.1 Equating i-components to zero and 

using their numerical p to find q 
 

   3q = −  A1 1.1   
    [3]    
        
            

      
 

   
  

         

        
    

 
       

     
      

     
   

      
     

    

  
    

    

        
            

       
      

     
   

  
    

  
       

        
 

        
        


